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What is the cause of human

A

B
C
D

trafficking?

drug abuse
slave trade

sexual abuse

demand for human organs

One heroine of the First Chimurenga is

A
B
C
D

The most important role of a woman in pre-colonial Zimbabwean

Chingaira.
Charwe
Nyambhita.
Mkwati.

was

Birth rites promote unity because

A
B
C
D

people feast and dance.
family members bring presents.
members of a family are happy.

family members come together.

family



The Zimbabwean government can promote growth of the informal sector by
A issuing subsidies.

B reducing corporate tax.

C making them pay tax.

D issuing them with licences.

How can school leavers earn a living using skills from sport, arts and
culture?

A order goods from wholesalers and resell

B form theatre groups to perform for a fee

C ask the government to create employment

D join opposition politics for regime change

Which of the following puts the Zimbabwean culture in danger?
A politics

B constitution
C mamage

D media

Right to is being free from violence and
injustice.

A education

B security
C shelter
D

food
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12

anisations (NGO)
Developing countries discourage Non-Governmental Org
activities because they

build school in less developed areas.
provide assistance to vulnerable groups.

A

B
C sabotage host government policies.
D support government’s policies.

- ) os?
Which conference paved way for the colonisation of African countries

A Beijing conference
B Geneva conference

C Berlin conference
D Lancaster house conference

Which of the following form of print media?
A whatsapp

B twitter

C letters

D skype

The first women rights conference was held in
A Beijing.
B Sweden
C Geneva.

D Lancaster.
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15

16

Indigenous entitlements were given based on

A

B
C
D
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Zimbabwe is divided into

S a = »

wealth.
gender.
family.

religion.

High Court presides over -------------- cases

family disputes
murder cases
labour disputes

election disputes

provinces.
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industry changes raw materials to finished goods.
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Tertiary
Primary
Service

Secondary
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19

20

is the earliest foreign religion in Africa.

S 06 =W »

Rastafarianism
Buddhism
Christianity

Islam

One positive effect of volcanic eruptions is

A
B
C
D

fertile soils.
heavy rain.
emission of gases.

climate change.

Which one of the following is an economic gain?

A
B
C
D

A legal right to receive property from a deceased relative is called

A

B
C
D

Freedom
Land
Democracy

Education

executorship.
a will.
heirship.

inheritance.
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One can become a citizen of a country by
A complexion.

B birth.

C age.

D health.

How did pre -colonial Zimbabwean societies ensure justice?

A used Lancaster constitution
B used the Rhodesian constitution

C used unwritten principles which were held by elders

D used constitution amendment ( No 20) 2013

Which of the following is a main feature of the National Heroes Acre?

A Mass Graves

B Great Enclosure
C Conical Tower
D Freedom Tower

Our type of dressing has become synonymous with that of western
countries because of

A cultural imperialism.
B cultural maintenance.
C cultural foundation.
D cultural identity.
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The Zimbabwe bird on the national flag represent

A

B
C
D

national aspirations,

our great history.

black majority.

blood shed during the liberation struggle.

Which of the following inhibits production?

A

B
C
D

lack of funds

plenty of markets
availability of raw materials
skilled labour

One of the characteristics of the informal sector is that

A

B
C
D

it does not have any written rules.
it does not pay its workers .
it does not conduct business during normal hours.

it does not employ many people.

Peace and order can be maintained if

A

B
C
D

all people respect the constitution.
all citizens have dual citizenship.
all citizens are allowed to vote for a leader of a country.

all people have power to try cases in court.
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Cholera can be spread through

A
B
C
D

eating cold foods.
sharing clothes with an infected person.
contact with infected blood.

eating contaminated food.

Which of the following is an environmentally friendly way of disposing off
litter?

A

B
C
D

recycling the rubbish.
burying the rubbish.
burning the rubbish.

throwing rubbish into the river.

What should be done by people in a community to prevent a gulley from
expanding?

A

B
C
D

fence the gulley
grow drought resistant crops

inform Agritex Extension Officers

form a community reclamation group

The government of Zimbabwean has improved the indigenous people's
access to natural resources by

A

B
C
D

launching food for work programmes

launching gulley reclamation programmes
encouraging tree planting programmes

issuing mining claims
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Religion can be used to develop the community through

A

B
C
D

teaching congregants that they are superior.
sponsoring the education of the less privileged children.

collecting tithes from congregants.
attending church services regularly.

Global warming can be reduced by

v O w »

cloud seeding.
using cleaner fuels.
industrialisation.

constructing more water reservoirs.

One of the risks associated with internet dating is

A
B
C
D

one does not know the kind of person he/she is dealing with.
one can get addicted to the internet.
one can become anti-social.

one can become lonely.

Why is child labour discouraged?

A
B
C
D

It is a form of abuse.
It brings money to the family.
It increases the rate of school dropouts.

It is an enterprising activity.



Which of the following meas
ure
unemployment by the gove e::an be used to reduce the rate of

A increasing salaries
B providing health facilities
C funding SMEs

D offering scholarships to school leavers

Study the Photograph below and answer the question that follows.

£ 3

Which is an environmentally friendly way of reducing the problem shown

on the photograph above?

A recycling the rubbish

B throwing rubbish into the river
C burning the rubbish

D burying the rubbish
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In which of the following ways do riddles sharpen children's minds?

A children get entertainment

B children kill time
C riddles are full of fun
D children think critically to get hidden meanings

Citizens can help reduce crime in society by
A minding their own business.

B going to church.

C demonstrating at government offices.
D

reporting all criminal misconducts.



